Comparative Statement & Financial Evaluation Seport

NAME OF WORK: "PROCUREMENT OF FURNITURE & FIXTURE FOR MEDICAL RESEARCH CENTER (MRC) UNDER THE PROJECT TITLE STRENTHENING & UP GRADATION OF ACADEMIC, RESEARCH AND SPORTS FACILITES AT LUMHS, JAMSHORO"

Reference No: NIT No. Doc # LUMHS/PMU/638 Date: 18-01-2024, SPPRA NIT ID No. T01773-23-0003 Date: 29-01-2024

Date of Financial Proposal Opening: 14-02-2024 at 11:30 A.M

5.No	Item & Description	Qy (No.)	Unit	,	M/s AK Links	M/s Glo	bal Tech Enterprises	M/s	s M.A Enterprises	M/s	M.S International	M/s K	nurram Enterprises	Recommended	Most Advantageous Bidder	
				(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR	(Unit) Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	Item Cost (PKR)		
1	Executive Tables Providing and making supplying Executive office table 72 X 36° polish finish with side rack 18" X 36" complete set with 8 mm glass top as per approved design as directed by the Engineer Incharge Imported	1	Each	83,500	83,500	67,350	67,350	59,640	59,640	59,980	59,980	N	ot Qouted		M/s M.A Enterprises - Approved on the basis of Lowest Rate.	
2	Revolving chair Heavy Executive revolving chair high back heavy cushioned with imported artificial leather fitted with imported five-feel base with hydraulic controlling system (Wooden) as per satisfaction of the Engineer Incharge Imported quality	1	Each	68,000	68,000	40,300	40,300	71,000	71,000	75,790	75,790	No	it Qouted	40,300	M/s Global Tech interprises - Approved in the basis of Lowest late.	,
3	Office Table for staff Providing and making supplying Executive office table 48 X 36" polish finish with side rack 18" X 36" complete set with 8 mm glass top as per approved design as directed by the Engineer Incharge Imported	32	Each	36,250	1,160,000	42,900	1,372,800	39,760	1,272,320	37,700	1,206,400	No	t Qouted	1,160,000	M/s AK Links - Approved on the basis of Lowest Rate.	,
4	Revolving Chair for staff Executive revolving chair high back cushioned with imported artificial leather fitted with imported five-wheel base with hydraulic controlling system as per satisfaction of the Engineer Incharge Imported quality	32	Each	11,500	368,000	22,500	720,000	21,300	681,600	19,989	639,648	No	n Qouted	720,000	M/s Global Tech Enterprises - Approved on the basis of Sample.	
5	Visitor Chair Single Seater imported Visitor Chair having pipe structure of imported material of approved design and colour as per satisfaction of the Engineer Incharge	80	Each	12,500	1,000,000	10,450	836,000	12,780	1,022,400	11,300	904,000	N	ot Qouted	1,022,400	M/s M.A Enterprises - Approved on the basis of Sample.	
	Computer table Making Providing and Fixing Computer table made with Lasani lamination sheet imported and water proof i/c key board, mouse drawers fitted with imported channels and locks and a compartment for CPU as per approved drawing/ design and as per satisfaction of the Directorhic rate also includes revolving chair medium back complete	2	Each	22,000	44,000	28,400	56,800	18,460	36,920	33,350	66,700	>	lot Qouted	66,700	M/s M.S International - Approved on the basis of Sample.	



Comparative Statement & Financial Evaluating Report

NAME OF WORK: "PROCUREMENT OF FURNITURE & FIXTURE FOR MEDICAL RESEARCH CENTER (MRC) UNDER THE PROJECT TITLE SININTHENING & UP GRADATION OF ACADEMIC, RESEARCH AND SPORTS FACILITES AT LUMHS, JAMSHORO"

Reference No: NIT No. Doc # LUMHS/PMU/638 Date: 18-01-2024, SPPRA NIT ID No. T01773-23-0003 Date: 29-01-2024

Date of Financial Proposal Opening: 14-02-2024 at 11:30 A.M

S.No	5.No Item & Description		Unit	М	I/s AK Links	M/s Glob	al Tech Enterprises	M/s P	A.A Enterprises	M/s M	I.S International	M/s Kh	urram Enterprises	Recommended	Most Advantageous Bidder
				(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR	Item Cost (PKR)	
	Computer Revolving chair Computer chair low back Executive revolving chair medium back cushioned with imported artificial leather fitted with imported five-wheel base with hydraulic controlling system (Wooden) as per satisfaction of the Engineer Incharge	2	Each	12,500	25,000	13,700	27,400	12,780	25,560	10,875	21,750	1	Not Qouted		Item is on Hold
8	Steel Almirah Making and Supplying Steel Almirah of approved size 4 x 6 with 18 guage GI sheel including locking arrangement etc complete	4	Each	38,000	152,000	33,050	132,200	59,640	238,560	39,500	158,000		Not Qouted	132,200	M/s Global Tech Enterprises- Approved on the basis of Lowest Rate.
9	File Cubinet Making and Supplying File Cabinet/ Lockers o approved and required size having 15 Inch deptl drawers and locking arrangement made of 15 guage GI Sheet including painting complete	h 6	Each	23,200	139,200	37,650	225,900	54,102	324,612	32,900	197,400		Not Qouted	225,900	M/s Global Tech Enterprises - Approved on the basis of Sample.
10	Auditorium Chair Supply of Auditorium Folding sitting chair made of Iron frame with seat and back cushione with approved fabric etc complete the rate als includes Folding writing tablet complete.	d 114	Each	21,380	2,437,320	18,750	2,137,500	19,596	2,233,944	18,450	2,103,300	30,687	3,498,318	2,137,500	M/s Global Tech Enterprises - Approved on the basis of Sample.
11	Book Shelves/ Racks Providing and fixing Book shelves/ Almirah 13 depth with back shelves made with wood fram of sheet and lamination Lasani board she 5/8" thick including gola, hinges, nails, glue locks, handles, shutters of glass/ sheet and a fixtures are Brass fittings etc complete in a respect the rate also includes spirit polish of good quality etc complete	ne et es 800 all	Per Sft	1,420	1,136,000		Not Qouted	1,420	1,136,000	1,335	1,068,000		Not Qouted	1,068,00	M/s M.S International - Approved on the basis of Lowest Rate.
12	Imported Metal 3 Seater Providing and making supplying Imported met 3-seater visitor's Chair with cushioned seat ar back of approved Design as per satisfaction the Engineer Incharge	nd 10	Each	43,500	0 435,000	47,00	0 470,000	46,80	468,600	39,1	391,500	33	,767 337,67	391,	M/s M.S International 500 - Approved on the ba of Sample.

A F

Dafri.



AE'	_		2	
	-	71	₹	3
		(III	я	٦

Comparative Statement & Financial Evaluation Report

NAME OF WORK: "PROCUREMENT OF FURNITURE & FIXTURE FOR MEDICAL RESEARCH CENTER (MRC) UNDER THE PROJECT TITLE SIMUNTHENING & UP GRADATION OF ACADEMIC, RESEARCH AND SPORTS FACILITES AT LUMHS, JAMSHORO"

Reference No: NIT No. Doc # LUMHS/PMU/638 Date: 18-01-2024, SPPRA NIT ID No. T01773-23-0003 Date: 29-01-2024

Date of Financial Proposal Opening: 14-02-2024 at 11:30 A.M

S.No	Item & Description	Qy (No.)	Unit		1/s AK Unks	M/s Glob	al Tech Enterprises	M/s	M.A Enterprises	M/s N	1.5 International	M/s Khurram Enterprises		Recommended	Most Advantageous Bidder
	Kell & Description			(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	Item Cost (PKR)	
13	Executive Sofa Set Making and supplying Executive Sofa Set (5- Seater) with central and 2 side tables complete set of approved design and as directed by the Engineer Incharge Imported quality	1	Per Set	99,850	99,850	96,400	96,400	120,700	120,700	127,600	127,600	Not Qouted		96.400	M/s Global Tech Enterprises - Approved on the basis of Lowest Rate.
14	Reception counter Supplying & fixing Reception counter made of conan sheet 12mm thick of approved design, specification with drawers, shelves, locks etc complete as directed by engineer Incharge	10	Per Rft	42,500	425,000	1	Not Qouted	39,760	397,600	28,275	282,750		Not Qouted	282,750	M/s M.S International- Approved on the basis of Lowest Rate.
15	Notice Board supplying Making and providing Notice Board 8" X 4" Size of approved design and specifications having aluminum frame with glass and locking arrangement etc as directed by the Engineer Incharge	4	Each	36,500	146,000	Not Qouted		36,920	147,680	33,840	135,360	Not Qouted		147,680	M/s M.A. Enterprises - Approved on the basis of Sample.
16	Display Board Supplying Fixing Wall mounted Black Board / white board made of lamination board sheet imported water proof sheet and finishing sheet of approved size and design etc complete the Rate includes fixing on wall with aluminum frame of approved design as directed by Engineer Incharge	4	Each	13,500	54,000	Not Qouted		10,650	42,600	11,890	47,560	Not Qouted		42,600	M/s M.A Enterprises- Approved on the basis of Lowest Rate.
17	Student Chnir with writing Pad Making and Providing students Reading chairs with back made of G.I sheet 16 SWG Square pipe 1" x 11/2" frame with imported ply sheet seat and back with imported leather cushion including master molty foam with talhi wood writing pad and carrier for books as per approved design as approved by Engineer Incharge	100	Each	6,980	698,000	11,970	1,197,000	9,940	994,000	8,775	877,500		Not Qouted		ltem is on Hold

GH R

April War



NAME OF WORK: "PROCUREMENT OF FURNITURE & FIXTURE FOR MEDICAL RESEARCH CENTER (MRC) UNDER THE PROJECT TITLE STREATHENING & UP GRADATION OF ACADEMIC, RESEARCH AND SPORTS FACILITES AT

Reference No: NIT No. Doc # LUMHS/PMU/638 Date: 18-01-2024, SPPRA NIT ID No. T01773-23-0003 Date: 29-01-2024

Date of Financial Proposal Opening: 14-02-2024 at 11:30 A.M.

							i i Toposai Open	6. 14-0	1-2024 at 11.30	A.IVI												
S.No	Item & Description	Qy (No.)	Unit	M/	's AK Links	M/s Global Tech Enterprises		M/s Global Tech Enterprises		ses M/s M.A Enterprises		M/s M.S International		ses M/s M.S International		M/s M.S International		M/s Khurram Enterprises				
	Destr			(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount (PKR)	(Unit Price) (PKR)	Total Amount	iten	m Cost (PKR)	ost Advantageous Bidder						
18	Rostrum Supplying Rostrum for Class Room/Seminar Hall of approved design /Drawing made of Laminated board MDF of approved columnated ragzine of approved sample as pe satisfaction of the Engineer Incharge (Interwood or equivalent)	5	Each	24,000	120,000	25,000	125,000	19,880	99,400	17,400	87,000		Not Qouted		1	M/s Global Tech Enterprises - Approved on the basis of Sample.						
19	Laboratory Stool Supply of laboratory stool of approved quali- and made with stainless steel pipe frame wi- seat and back complete	ty th 60	Each	4,900	294,000	5,200	312,000	9,940	596,400	9,425	565,500		Not Qouted		596,400	M/s M.A Enterprises - Approved on the bas of Sample.						
	Total Amount				8,884,870		7,816,650		9,969,536		9,015,738		3,8	35,988	8,314,97	0						

Convene Prof. Dr. Feroze Ali Kalhoro Dean, Faculty of Dentistry LUMHS, Jamshoro

External Member Engr. Saghir Ahmed Memon Director (P & D) / Works MUET, Jamshoro

Mr. Nadeem Shakoor Javeri Director Finance, LUMHS, Jamshoro

External Member Engr. Mukesh Kumar Vasu Assistant Engineer, SABS University, Jamshoro

Member Engr. Gulzar Ahmed Director Work & Services, LUMHS, Jamshoro